2009 & =0l aF e
SH QEE A
Mz ADIQHAE
ol IHORHA Al ALY

N = Ol & AF & ZF A

A

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
O F & Al T 7,722,033 5,923, 187 1,798,846
= 30,493
= 1,740,000
= 414,492
Al 5,537,048
NRIEIESE=F 187,130 212,900 £25,770
WHOQLE & Al At 187,130 212,900 £25,770
2ol I s 91,130 150,000 58,870
201 er2g| 42,250 75,500 33,250
01 At 2tely| 12,250 55,500 143,250
O1 LersgY| 7,000
DOFEA YREY 2L
7,000,00021 #14} 7,000
03. 2¥+g 5,250
>EXEOE sl B +g
70,0002 %2501 33| 5,250
03 A2 30,000 20,000 10,000
OUAFG Al BOI HZA 30,000, 00021 *14] 30,000
202 Ofl 2,880 4,500 A1,620
01 =Uhord 2,880 4,500 A1,620
OO E T AIAFY 4801t 240,00021 *12% 2,880
207 oLyl 26,000 70,000 44,000
TBEEEET 26,000 70,000 44,000
OLMZAMA PE KX 22
26,000,0002 *14} 26,000
01 YerEaz 20,000 0 20,000
CEEEEEE 20,000 0 20,000
OUAFMTAl BOUILTA QIBIZH
20,000,0002 *14} 20,000
QIFBE A =X 37,000 35,000 2,000
201 ereo| 35,000 35,000 0
01 AtR2teld| 35,000 34,000 1,000
O1. Yer+gH| 35,000
> OFEQI A HE 1,000% 5,000 5,000
CREADNY E2S M
2,000,000 x2 5 4,000




A HE Al
M AlgtESA

CHOl: WHOOHEI Al AFE (chel:®iel)
. - o HE T
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
DOIMEE M 22 (0INEEX AEIA
22F) 2,000,000& *3& 6,000

Drotd g AetH0l" HMXHAE

10,0002 * 1,000 10,000
>O2I0l QIFOA NRE SA(DVD)H
& 10,000, 0002 * 14! 10,000
01 YsEaZ 2,000 0 2,000
12 JEeas 2,000 0 2,000
OSAHEUIIE TANED
10,0002 +2009! 2,000
g 2 28 59,000 27,900 31,100
201 L2yl 49,000 27,900 21,100
01 AFR2elt] 29,000 27,900 1,100
O1. YersgH| 29,000
CRSDW A 5, 00021 6002 %23 6,000
DOMEA B2 NS M (ZALELA
&) 20,000, 00021 *14] 20,000

DOIEMEAl B3 B AHI(S=H, 5

Hl §) 1,500, 000& *22] 3,000
03 A2 20,000 0 20,000
OtET Al EXH iz 20,000,000& 13l 20,000
207 SAOHEH| 10,000 0 10,000
01 2SSl 10,000 0 10,000
OQUMT Al E2CI M= 10,000, 000& * 14! 10,000
Meto & HEMHA 2= 3,150,368 1,752,974 1,397,394
= 11,502
s 1,740,000
S 354,219
Al 1,044,647
A HEAH 2= 95,205 99,386 4,181
MMM =R 2 24,040 14,336 9,704
201 LEH23H] 18,040 14,336 3,704
01 AtR2cidl 15,800 12,140 3,660
O1egt=Zd| 8,100
Dot 22| H 2 Q14 3,000, 0003 * 14! 3,000




A HE Al
M HHHZY 2 HSHA 7=

&Rl AAl HHEMM 2= (el &)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0 & o4 e HlnE2
DHEHEHS2H 2l 2,000, 0003 * 14! 2,000
DIENY =2 2 EES
50,0003 #2504 A x23] 2,500
DeloldEgH EEY EHFY
300, 000& *2CH x13] 600
Oo32d=¢ 2,940
Dot PR & ARAYS 2F
o =g 70,0003 x1421%33] 2,940
O5 =&l 4,760
> IOl B 22X S|
7,000& x34021x20 4,760
02 =294l 2,240 2,196 44
O3 A& &S] 2,000
DIEtSatarsetal Al E s X
2,000,000 14! 2,000
02 A=l 240
DI Satatetal A=Y
9973 *xBA| 2kx30 240
405 KHeHHE SHI 6,000 0 6,000
01 XA EEHSHI 6,000 0 6,000
OMUBSASY MBS LES DY
1,500,000 *4CH 6,000
MEHHEAIAE 22t 49,075 45,160 3,915
201 Lt 39,575 27,160 12,415
02 232944l 39,575 27,160 12,415
O3 A& ZEHIS XY 39,575
DMHUAEEE RA2
1,454,000& x12& 17,448
DUSSHSEAAH (B ALIHZM A
JES]s] 4,000,000 1Al 4,000
DA (101), S A eI B (101), R
MH(1CH) 3,000,000& *14! 3,000
D As=2E] Y| 1,500,000& * 14! 1,500
DM E AT (200 4) &
2,000,000 =14 2,000

DAZRME22AIAYE MH ST E2(
Hlef) 6,746,300 *8/100%1. 1 594




SA O A
B W L USHE 7S

Ciol: Al DSHA 2= CLEE)
(=] X XH cCtel (s =] (3] HA2 OH dE e =2}

D> ot&2FAISHDI 2 COTV(3IH &) RAE =2=(

F

Hiet) 35,840,000%7/100+1. 1 2,760
DPASSHEZAA (LELE2T23
HA) SAE==(H24)8,400,000& *15/100%1. 1 3,036
DUASLREZEI AH SXE=(HQY)
9,500,500%8/100%1. 1 837
DASLEREZAZII(1104) SXEx=(
o) 40,000,000%10/100%1. 1 4,400
202 Oddl 1,000 1,000 0
01 2UWabI 1,000 1,000 0
OTHHHZAIAR 2H2tel 1,000, 000& »14] 1,000
405 KHeHHE S=HI 8,500 17,000 /8,500
01 A =SSFHSHI 8,500 17,000 28,500
OZY=FAAHE (Y285 524H)
8,500, 0003 » 14! 8,500
Heoe nssEads X2 22,090 21,390 700
201 LEHREH| 2,090 1,890 200
01 At22t2id 2,090 1,890 200
O1 Lt==2H| 1,000
PHHHSEd E22 MAH
1,000,000& 14! 1,000
O3 2g=¢ 1,090

100,000& »321 %22 600
DY E2 ZAH HARRSE
70,0003 x72! 490
301 E2A S 3,000 2,500 500
10 AL HI2a = 3,000 2,500 500
OMEHHl 2+ Seed
3,000, 0003 »14] 3,000
307 gI2tol & 17,000 17,000 0
02 22tFa=Ex 17,000 17,000 0
OdoAsSA2l SsSXXBAU
2,000,000& x 14! 2,000
OogEagl 2 & MU=
15,000,000 14! 15,000
et 2stas 54 K& 56,818 49,988 6,830

W

11,502




S oEE
HE: T o]
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o9 OFSSEE F4 XS (B9l &)
RA B SA(BH) - NRAY - B 01 e HRE2
UHSHHUE S4 XY = 3,819
Al 41,497
ANEZ o EE 19,000 17,300 1,700
201 Ygreg| 17,000 17,000 0
01 At el 15,000 7,000 A2,000
O1 Yet+gY| 15,000
DMBTHAEY SHREY £48
10,0002 1507} 72 15,000
02 Tzl 2,000 0 2,000
03 A&EHISXHI 2,000
D2OIQIB TS U ASHEY RX2A
2,000,0002 *14! 2,000
202 OiHl 2,000 300 1,700
01 =Lfoidi 2,000 300 1,700
OMEBTHLHOIY OIRE 2,000,0002 14! 2,000
oA F ol otE A 21,004 8,852 12,152
2 0,502
= 3, 151
Al 7,351
201 Y2yl 21,004 8, 152 12,852
2 10,502
= 3, 151
Al 7,351
01 A2l 21,004 8, 152 12,852
OTHLOIE FHOOD AFEY 242
21,004,0002 14! 21,004
3 10,502
= 3,151
Al 7,351
OHBRN2E 2 1,336 1,336 0
= 668
Al 668
201 Ygreg| 1,336 1,336 0
= 668
Al 668
01 AtRelyl 1,336 1,336 0




SN HEE AT
M HHHZY 2 HSHA 7=
ool otE2sES 84 KW (oA
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O1 Zet==24] 1,336
Dotdzte| 2t 24 1,336,000& =14 1,336
= 668
Al 668
NSRS BE 11,000 2,000 9,000
201 ZBH2EH| 10,000 2,000 8,000
01 AtR2cldl 10,000 2,000 8,000
O1 Zet===4| 10,000
DOIMES € MEA(AHETAl)
10,000,000& * 14! 10,000
202 OdHl 1,000 0 1,000
01 =Wobl 1,000 0 1,000
OetdZs g8 1,000,000& 14! 1,000
S0 HLXNE &AL ol 2,478 10,000 ANT,522
101 el2H] 2,478 0 2,478
10 JIZtH2=AsSE=* 2,478 0 2,478
OHEZSAN AFLH 12
41,300 *302! 20! 2,478
S=0| etMAld &X 2,000 0 2,000
= 1,000
Al 1,000
401 Al HIZ RO 2,000 0 2,000
= 1,000
Al 1,000
01 A&l 2,000 0 2,000
OS50 HEAL 22 L L
2,000,000& =14 2,000
= 1,000
Al 1,000
MEtOiHl =S2HA += 2,998,345 1,577,600 1,420,745
s 1,740,000
= 350,400
Al 907,945
ME THolEatd HE 16,150 16,150 0
201 LEH23H] 16,150 16,150 0
01 AtR2teld 15,750 15,750 0




A HE Al
M HHHZY 2 HSHA 7=

&2l HHOH =2 MA 2= (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
O3 2g=Y 15,750
> AETHoH IS S HERAR =
70,0003 1521 153] 15,750
02 =294l 400 400 0
O1 3322 % HA 400
DRERS 400,000 x 14! 400
MoHAtECHEl R S5+ 42,000 41,100 900
201 Lpt3H| 41,000 41,100 A 100
01 At 2eld] 38,000 38,600 A600
O1 dBt==ZH| 13,000
> =2 A= 13,000, 0003 * 14! 13,000
06 dx= 25,000
>DMolE==+7E 25,000, 0003 * 14 25,000
02 2224l 3,000 2,500 500
O1 3322 % HA 1,500
>t Es o 1,500,000 * 14! 1,500
O3 A& & Hl= X4l 1,500
DI RAEB 1,500,000 * 14! 1,500
202 O4dl 1,000 0 1,000
01 =Waol 1,000 0 1,000
OTHoH AtE CHY| &
1,000, 0003 * 14 1,000
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Al 84,000
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s 4,000
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STol2E 3,800 21,800 A 18,000
201 LEH23H] 3,800 20,800 217,000
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O1 2322 £ HA 3,39%
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O3 A& &= Xl 15,000
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DHSKA SX2e (SN, 243
X7 400 A) 15,000,000& =14 15,000
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S 4,893

Al 14,990
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202 01| 1,000 1,000 0
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SA AT AID
M o2 29
G 2R B 235 QL EA
i} _ _ FSIER=
N33 . c2(3H) - NEME - HES agel @;OH Hon=s2t
ORU2Z2RA AGIBEEZ 200,000 40! 800
M0l 2,929,379 2,685,185 244,194
ZAE SR22 2,929,379 2,685,185 244,194
2,20t Ax 22l 1,794,028 1,672,445 121,583
201 LB Y] 1,001,521 951,880 49,641
01 AFR22|H] 17,640 16,400 1,240
O1 Yeta2H| 15,000
PLEIIR BOE OHMEA £42
15,0002 *1,000S 15,000
06 dxta 2,640
DIIRE PHAHAAEH JIX2 AXt2
220,000 * 122 2,640
02 ZZ=29H| 983,831 935,480 48,401
O1 222 2 HA 961,489
DIIZE HIQS(ZZAH)
(4,433 %2 174kKW+612 x652, 200kWh ) * 122 593,059
DEOE MIIR2 363,710
O460WE OFS 272 x10S *460w* 122 1,491
0288WE otS 2721 x329S +288w* 122 30,700
O 173w oFS 27 +3 776 *173wx 122 211,653
O115WE otS 27 *3 2171 15wx 122 119,866
DME0IAI|SH2IE SHES A2
70,0002 *3CH*12& 2,520
DEXEI NSIAM(HY 10%E0!)
100,000 *2CH*13]*90/100 180
DEXEI NESX BAZ 25,0002 *2CH 23] 100
DEXI BAMWLRE2
80,0002 *2CH 23] 320
DEXI EEEBER 800, 00024 »2CH 1,600
O4 RpekA ety 22,392
DEXHI SRH 1,350,0002 »12& 16,200
D> EXS2lH] 516,0002 122 6,192
202 0t 1,000 2,000 A 1,000
01 =2LH0iH 1,000 2,000 A 1,000
OJt=BotE A2 1,000, 0002 x4l 1,000
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A BB C(3I0) - NIRAY - BaS Aol Sl ko HRz2
206 M= Hl 151,500 141,000 10,500
01 XZHl 151,500 141,000 10,500
OJNzEsS RANES 151,500
PO EotS E+XtM 40, 000& %2, 000H 80,000
PIHRBOAS B 100, 000270071 70,000
D&EIIEHZ (LX) 50,000& *305 1,500
401 AIEHIZSOHI 640,007 568,565 71,442
01 Al&HI 636,000 564,500 71,500
O4 A&l 636,000
PIOHEREoS RAES 320,000
O=Bt2, 20S Holg DA
100, 000& *700m 70,000
OJR2EoS RXLL
1,000, 000! *200S 200,000
OmO U AMISIG LX(RDST
et Xl 100,000& 5005 50,000
Dot ets 4l 316,000
OOFBH(SHAIH) HorsSax (ot
HEZAIALY) 1,300,000& *x100S 130,000
oaE=Y qc2 J2E &
XIAHS 3,000,000& 225 66,000
OHXIL(2S, B2, I2)2AS &
XIS Ak 2,400,000& x50 120,000
03 Al&SCHt] 4,007 4,065 58
OAlI4 S CHHI 4,007
PIIR 2HOrS MEY RBATA
636,000, 000& «0.63/100 4,007
ZAE=S R 1,135,351 1,012,740 122,611
201 LEHR | 8,665 1,300 7,365
01 Ar= el 1,500 1,300 200
O1 ger=gH| 1,500
>MBOIAKE HATT(M UX FUS
) 800,000& 14! 800
DAMEOIAKE HHEXE 70,000+ 100} 700
02 23294l 7,165 0 7,165
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FAH-FH-SASA) - NRAE - BE=Z Ol &+ 9K Ofl At ot HwsZ
O1 2222 2 HAl 720
>ERIISE Y BIWLRLS
80,0002 <23 160
>ERIISE A NS
96,0002 *151+90/ 100 87
>ERIISE NEXAA 248
23,000 *1CH 23
>ERIISH NENLEE 450,000%1CH 450
O4 xHgHe| 6,445
> X2+ 5 04 (28,800kn) 5,940, 0002 * 14! 5,940
> Xt 42l
15,000, 00021 *0.0003503+8AI 2H+ 122 505
202 OiHl 2,000 2,880 A880
01 =Lfoid 2,000 2,880 880
OEZANES RS 2,000, 0002 14! 2,000
206 MRl 20,000 40,000 20,000
01 MZbl 20,000 40,000 20,000
OE2R2T 2 20,000
>25C 10,0002 %2, 000CH 20,000
401 AN&HLLHY 1,088,686 968,560 120,126
01 AlZH] 1,085,000 965,000 120,000
OE2ZANEE E= 585,000
> EROIC 2 H A (SILH AN
40,0002 *2,000 80,000
DEYTREHA S (SIIHAAY)
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